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QUESTION 1

What is the purpose of the Reorder Point when its value is reached? 

A. A special order item is reordered. 

B. The vendor is contacted for shipment. 

C. The inventory item should be reordered. 

D. The automatic reorder process is scheduled. 

Correct Answer: D 

 

QUESTION 2

Which two statements are true about voiding a receipt record in IBM Maximo Asset Management V7.5? 

A. Balances and inventory costs are adjusted. 

B. Voided receipts can be referenced on credit invoices. 

C. Related General Ledger account transactions are reversed. 

D. A new transaction of type RECEIPT is created with negative quantity. 

E. A receipt can be voided after the corresponding line item has been invoiced. 

Correct Answer: BE 

 

QUESTION 3

Which statement describes why an asset cannot be moved? 

A. The asset has no location 

B. The asset is in a storeroom. 

C. The asset is flagged as down. 

D. The asset has a status of NOT READY. 

Correct Answer: A 

 

QUESTION 4

What are the two file formats in which scheduled reports can be e-mailed to a recipient? 

A. TXT 
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B. GIF 

C. XLS 

D. PDF 

E. DOC 

Correct Answer: CD 

 

QUESTION 5

Which statement describes a work package? 

A. It is an activity with one or more child work orders or tasks. 

B. It is a collection of work orders that are placed under a new parent. 

C. It is a work order with more than one task to organize the order of work. 

D. It is a package of work orders that is placed under an existing work order. 

Correct Answer: D 

 

QUESTION 6

How are items deleted from an active job plan? 

A. Delete the item and then save the record 

B. Make a job plan revision and then delete the item 

C. Change the job plan to WAPPR and then delete the item 

D. Change the job plan to PENDING and then delete the item 

Correct Answer: B 

 

QUESTION 7

Which statement is true when trying to generate a forecast on a preventive maintenance (PM) record? 

A. The PM must be inactive. 

B. The PM must have a due date. 

C. A forecast must already exist for this PM. 

D. The Forecast field must not be checked for the PM. 

Correct Answer: C 
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QUESTION 8

On an existing classification, one of the attributes has a value in the Inherited From field. What does this mean? 

A. The attribute is associated with a classification that is higher up in the hierarchy. 

B. The attribute is associated with a classification that is lower down in the hierarchy. 

C. Any new attributes on this classification will inherit the same configuration as this attribute. 

D. The attribute will automatically inherit values from a template when the classification is assigned to a record. 

Correct Answer: A 

 

QUESTION 9

Which application is used to create KPIs? 

A. KPI Editor 

B. KPI Viewer 

C. KPI Manager 

D. KPI Administration 

Correct Answer: B 

 

QUESTION 10

What is required to generate a forecast for an existing preventive maintenance record? 

A. Estimated next due date 

B. Last work order start date 

C. Last work order generation date 

D. Last work order completion date 

Correct Answer: C 

 

QUESTION 11

Where can a manager approve outside labor when it is not setup to be automatically approved? 

A. Quick Reporting application 

B. Labor Reporting application 
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C. Ad-hoc Reporting application 

D. Activities and Tasks application 

Correct Answer: B 

 

QUESTION 12

More items have been issued than are required on a work order and they must be returned to stock. Which two
statements are true? 

A. Items can be returned from the work order. 

B. Individual item from kits can be return to stock. 

C. Rotating items cannot be returned from the work order. 

D. Items can only be returned if they are direct issue items. 

E. Items can be returned only if issued against a work order. 

Correct Answer: BD 

 

QUESTION 13

A list of 300 new pieces of non-rotating assets need to be quickly added into a system. In addition to adding each of
these new records, each piece of equipment must be given its own sequential asset number. 

What application should be used to do this? 

A. Inventory 

B. Equipment 

C. Item Master 

D. Asset Templates 

Correct Answer: D 

 

QUESTION 14

From which application tab. can a user change the status of multiple records at once? 

A. all tabs 

B. List tab 

C. Main tab 

D. Related Records tab 

C2010-595 VCE Dumps | C2010-595 Practice Test | C2010-595 Study Guide                                5 / 6

https://www.leads4pass.com/c2010-595.html
https://www.leads4pass.com/c2010-595.html
https://www.leads4pass.com/c2010-595.html


https://www.leads4pass.com/c2010-595.html
2024 Latest leads4pass C2010-595 PDF and VCE dumps Download

Correct Answer: B 

 

QUESTION 15

What is used to export an IBM Maximo Asset Management inventory balance report? 

A. BIRT Report Viewer 

B. BRIO Report Viewer 

C. Maximo Report Viewer 

D. COGNOS Report Viewer 

Correct Answer: D 
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